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01 Al&H| 1,350,000 1,350,000
OXIU A5t E| 1,350,000
EF A0 FHI(HEAIY) 2,000,000 2,000,000
401 AIEHIX S0 2,000,000 2,000,000
01 A28l 2,000,000 2,000,000
&= 40otd 2,000,000
2 A0 FHI(HEAY) 2,000,000 300,000 1,700,000
401 AIEHIZ SR OHYI 2,000,000 300,000 1,700,000
01 Al&HI 2,000,000 300,000 1,700,000
OoZ4 Aot El 2,000,000
of&t AcHA ZHI 2,000,000 0 2,000,000
401 Al HIZL 01| 2,000,000 2,000,000
01 Al&H| 2,000,000 2,000,000
024 A5t E| 2,000,000
bt AGHE FHIAIY (HEALY) 200,000 0 200,000
401 Al HIY S CHYI 200,000 200,000
01 A28l 200,000 200,000
Ott== Aot Ebl 200,000
ol = At 1,253,432 18,912,222 A17,658,790
7.8.~19. &Gt THOHSF(XHA) 357,000 0 357,000




SN ALDED
g ot E|
=S Mol STA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 357,000 357,000
01 Al&H| 357,000 357,000
OZ A H3A6H oSS AHL=40m) 36,000
OZH E2A6HETHOH S S AHL=30m) 34,000
O2& Y A5t THH S S AHL=80m) 93,000
OFA HE1ASHETHOH =73 AHL=40m) 56,000
OHE ==A6HE oSS AHL=60m) 31,000
O=% €340t oSS AHL=50m) 107,000
9.19.~21. AGH M=+ (RHAI) 896,432 896,432
401 Al HIZ S OHbI 896,432 896,432
01 AlZ2H| 896,432 896,432
22 FEASHATHH S S AHL=50m) 80,630
O XIMHASHEIHEH =73 AHL=60m) 167,000
O=g ERZAGHETHHE TS AHL=20m) 22,550
O2& MBAGHETHoH =SS AHL=50m) 41,750
O=g ASUAGHATHHS TS AHL=20m) 125,240
OH ot X2 AGH THOH S+ 3 AH(L=230m) 393,502
O HBAGHE THH S S AHL=10m) 15,660
Ot ZHrAGHE THoH =7 2 AHL=80m) 50,100
A0tE HS2S AL 350,000 490,000 140,000
= 175,000
o 175,000
a0t ADEAFAIAYE A=A 350,000 490,000 140,000
= 175,000
o 175,000
401 AIEHIZ SR OHYI 350,000 490,000 140,000
= 175,000
T 175,000
01 Al&H| 350,000 490,000 140,000
OAStEAEZACIANAYE AE(ERSE S5
DLENY 350,000
= 175,000
[Ea 175,000
HY2EHH(AL S 441,021 453,766 N12,745
elE2EH(HL S 401,277 424,282 23,005
QlIAH|(HE nS ) 401,277 424,282 23,005
101 @124H| 400,000 420,000 220,000
03 SR (RINAHA) 222+ 400,000 420,000 /20,000
O==2& 2] 800,000, 000& *50% 400,000
201 er2 3| 1,277 4,282 A3,006
02 S3=4gl 1,277 0 1,277
OS2I (HLSBFY) 1,217




= ?H)
SA - B SRIBH) - MRAR - BAS A HIDEZ
23H(HE S 39,744 29,484 10,260
Jl23H(HEnsn) 39,744 29,484 10,260

201 Zet=E] 33,264 23,436 9,828

01 At2teltl 33,264 23,436 9,828
OJlE=3Hl 15,120
OJI2=gl 18,144
202 048l 1,458 1,458
01 SLHo4HI 1,458 1,458
OAdLuEY JI2H2FA 1,458
203 HR=&H] 5,022 4,590 432
M EA2ER=AH 5,022 4,590 432
OHEuS FA2IHR
465,000 12 «90% 5,022
Hees(Hens) 468,262 280,032 188,230
SN E(ALLSH) 468,262 280,032 188,230
HEHHXIE 468,262 280,032 188,230
701 JIEHRIHSEES 468,262 280,032 188,230
01 JIEtl AN ES 468,262 280,032 188,230
OFXSMNEEEIN NE 468,262




